#916057 Page 1 of 1

PARTS LIST FOR #6057
BIG BLOCK CHEVY V8 MOTOR PLATE

NO. OTY PARTNO. DESCRIPTION
1 1 1439 B/B Chevy V8 motor plate
2 4 3245 Locknut 3/8-16 stainless steel
3 4 3253 Stainless 3/8 washer 25/64 x 1”
4 4 3254 Stainless 7/16 washer
5 4 3434 Buttonhead allen 3/8-16 x 1% stainless
6 4 3438 Socket head allen 7/16-14 x % stainless

Refer to your Installation Guide for assembly procedure.

Revision Date: May 13, 2003

([Chassisworks)

HE HOME OF HIGHER TECHNOLOGY

#916057 Page 1 of 1

PARTS LIST FOR #6057
BIG BLOCK CHEVY V8 MOTOR PLATE

OTY PART NO. DESCRIPTION
1 1439 B/B Chevy V8 motor plate

4 3245 Locknut 3/8-16 stainless steel
4 3253 Stainless 3/8 washer 25/64 x 1”
4

4

4

3254 Stainless 7/16 washer
3434 Buttonhead allen 3/8-16 x 1Y, stainless
3438 Socket head allen 7/16-14 x %4 stainless

Z
.C”.U":b.‘*’!\’!—‘_o

Refer to your Installation Guide for assembly procedure.

Revision Date: May 13, 2003

([Chassisworks

THE HOME OF HIGHER TECHNOLOGY




	PARTS LIST FOR #6057 
	BIG BLOCK CHEVY V8 MOTOR PLATE 
	PARTS LIST FOR #6057 


